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SECTION A

Answer ALL questions. Write your answers in the spaces provided.

1	 Bill is a builder.
	 On Monday he made mortar mix.
	 He used 24 kg of sand and 5 kg of cement.

	 On Tuesday Bill will make the same type of mortar mix.
	 He will use 36 kg of sand.

	

How much cement does he need to make the same type of mortar mix?
� (3)

kg
 

(Total for Question 1 is 3 marks)
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2

	

(a)	 Write 2.71828 correct to 3 decimal places.
� (1)

	 Here is a formula.

			   P = 3T 2

	

(b)	 Work out the value of P when T = 10�
� (2)

(Total for Question 2 is 3 marks)
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3	 Lizzie buys 3 clocks for a total cost of £50 at a car boot sale.

	 She sells 2 of the clocks for £22 each and the other clock for £20

	 Lizzie thinks she has made a profit of over 30% of the cost of the clocks.

	

Is Lizzie correct?
Show why you think this.
� (4)

 

(Total for Question 3 is 4 marks)
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4	 Usha is a local councillor.
	 She wants to write about a new housing development.

	 The diagram shows the space for the new development.

	
1 mile
2

1 mile
2

	 Usha thinks that the area of the development will be greater than the total area of  
50 football pitches.

	 Usha knows

	 •	 a football pitch is rectangular 100 m by 50 m
	 •	 1 mile = 1600 m.

	

(a)	� Will the area of the development be greater than the total area of  
50 football pitches?

� (5)
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(b)	 Use reverse calculations to show a check of your answer.
� (1)



(Total for Question 4 is 6 marks)

TOTAL FOR SECTION A = 16 MARKS
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